e MED
A H

HRRaLE
IR T

ol

N

C:

G

B:

B

CFT6(V)M~CFT10-1(V)M

do

S

C:

B:

B

CFT12(V)M~CFT18(V)M

W

AN

T

SUS/INOX CFT.M CFT.VM
BWCFT.M %E T %R
= ESill e = R~F (mm) BEAHE | BEXFE =N VFEER HIEHTTREN =N =
BIEEE ‘ B0 | MR | AEE |+ e
(mm) Bl 5N IKTESME]
- R500(CF6 ~ CF18)
| A A e A 2 E O & x| = @ | & | b @ ON IE
. ey . . rs f Cr Cor B Z5NE | BRESMNE g
AN Sk St Sk sy
h7AZE | EZHE | T2HE | XEHE | TEHE D c |d G Gl | B1| B2 | B3 a 51 d2 2| B/ N N N rpm N N b5 (K4)
0 CFT 6M CFT 6MUU CFT 6MR CFT 6MUUR 3330 3330 2110 | 25000
6 0012 16 11 6 | M6x1 8| 28|16 — 0.6 | M6x0.75 — 1 0.3 11 3430 1080 3 18.5
' CFT 6VM CFT 6VMUU CFT 6VMR CFT 6VMUUR 6400 7 840 2110 12 000
0 CFT 8M CFT 8MUU CFT 8MR CFT 8SMUUR 3960 4330 4710 | 20000
8 0015 19 11 8 /M8x1.25 | 10| 32|20 — 0.6 | M6x0.75 — 1 0.3 13 4020 1370 8 28.5
' CFT 8VM CFT 8VMUU CFT 8VMR CFT 8VMUUR 7470 10270 4710 9000
0 CFT10M CFT10MUU CFT10MR CFT10MUUR 4950 6310 6 860 17 000
10 0015 22 12 [10{M10x1.25(12| 36|23 — 0.6 | M6x0.75 — 1 0.3 15 4700 1670 15 45
' CFT10VM CFT10VMUU CFT10VMR CFT10VMUUR 8740 13 340 7 450 7 500
0 CFT10-1M CFT10-1MUU CFT10-1MR CFT10-TMUUR 4950 6310 6 860 17 000
10 0015 26 12 [10{M10x1.25(12| 36|23 — 0.6 | M6x0.75 — 1 0.3 15 5490 2060 15 60
' CFT10-1VM CFT10-1VMUU  |CFT10-1VMR CFT10-1VMUUR 8740 13 340 7 450 7 500
0 CFT12M CFT12MUU CFT12MR CFT12MUUR 7 300 9010 7 840 14 000
12 0018 30 14 [12{M12x1.5 [13 | 40|25 6 0.6 | M6x0.75 0.6 20 7 060 2450 22 95
' CFT12VM CFT12VMUU CFT12VMR CFT12VMUUR 12 350 18120 9010 6 000
0 CFT12-1M CFT12-1MUU CFT12-1MR CFT12-1MUUR 7 300 9010 7 840 14 000
12 0018 32 14 [12{M12x1.5 (13| 40|25 6 0.6 | M6x0.75 0.6 20 7 450 2740 22 105
' CFT12-1VM CFT12-1VMUU  |CFT12-1VMR CFT12-1VMUUR 12 350 18 120 9010 6 000
0 CFT16M CFT16MUU CFT16MR CFT16MUUR 11080 16 860 14 660 10 000
16 0018 35 18 [16|M16x1.5 |17 | 52|325| 8 0.8 Rc1/8 0.6 24 11200 3140 58 170
' CFT16VM CFT16VMUU CFT16VMR CFT16VMUUR 19020 34610 15 840 4500
0 CFT18M CFT18MUU CFT18MR CFT18MUUR 13520 23180 20160 8500
18 0018 40 20 |18/ M18x1.5 | 19| 58/36.5| 8 0.8 Rc1/8 1 26 14 400 3720 87 250
' CFT18VM CFT18VMUU CFT18VMR CFT18VMUUR 23250 | 47 240 21240 3500
*TFEHE, BEEREDE. MELMEE, FXAFERIZZEER 130%. SNERE (um) F4
EAZEHE, HEMZEER 70%. EZ] E&4NE BRETSNE .
CF6M 0/-8 0/-50 e %
CF8M,CF10M,CF10-1M,CF12M 0/-9 0/-50 ESi
) CF12-1M,CF16M,CF18M,CF20-1M 0/-11 0/-50
. . . TEN2
CF20M,CF24M,CF24-1M,CF30M 0/-13 0/-50 %R T

CF30-1M,CF30-2M 0/-15 0/-50

244 NOSE SEIKO CO.,LTD. NOSE SEIKO CO.,LTD. 245



AN

e MED
A H

cC _ B
TR A * oo f
ST s ([ ==
- e o f
% /, G '\ H
o l;m NN
B
SUS/INOX CFT..M CFT.VM
BWCFT.M %E T %R
= ERKS R=F (mm) BEAGE | EAEE =N VFEER HIEZTETRE S =PN RE
RIEERE ‘ BRE | BRE | AFEE |+ e
(mm) Bl 5N TKESMNE]
- R1000(CF20 =)
00 VS O e ) A o)1= 1 | = = E| @ | & | B | @ ON IE
. ey . . rs f Cr Cor B Z5NE | BRESMNE g
J\ v Ao Sk Ao .
h7A% | TEEHE | HEHE | TEHE | w%HE D | C |(d| G |GI[B1| B2 |B3 Ci S1 N N ¥ N rpm 5 1 Nm g,
0 CFT20M CFT20MUU CFT20MR CFT20MUUR 19020 31830 | 25710 7 000
20 -0.021 52 24 20| M20x1.5 (21| 66/40.5| 9 0.8 Rc1/8 4 |1 36 23200 8230 120 460
' CFT20VM CFT20VMUU CFT20VMR CFT20VMUUR 30470 59320 | 25710 3500
0 CFT20-1M CFT20-1MUU CFT20-1MR CFT20-1MUUR 19020 31830 | 25710 7 000
20 -0.021 47 24 20| M20x1.5 (21| 66/40.5| 9 0.8 Rc1/8 4 |1 36 21000 7 150 120 385
' CFT20-1VM CFT20-1VMUU  |CFT20-1VMR CFT20-1VMUUR 30470 59320 | 25710 3500
0 CFT24M CFT24MUU CFT24MR CFT24MUUR 28 040 48410 | 39600 6 500
24 0,021 62 29 24| M24x1.5 25| 80/49.5| 11 0.8 Rc1/8 4 |1 40 34 200 10 500 220 815
' CFT24VM CFT24VMUU CFT24VMR CFT24VMUUR 42 820 84 650 | 39600 3000
0 CFT24-1M CFT24-1MUU CFT24-1MR CFT24-1MUUR 28 040 48410 | 39600 6 500
24 0.021 72 29 24| M24x1.5 25| 80/49.5| 11 0.8 Rc1/8 4 |1 40 39800 12900 220 1140
' CFT24-1VM CFT24-1TVMUU  |CFT24-1VMR CFT24-1TVMUUR 42 820 84 650 | 39600 3000
0 CFT30M CFT30MUU CFT30MR CFT30MUUR 41740 78 250 | 58960 5000
30 -0.021 80 35 |30| M30x1.5{32|100|63 15 1 Rc1/8 4 |1 46 52 600 14 900 450 1870
' CFT30VM CFT30VMUU CFT30VMR CFT30VMUUR 62210 | 132530 | 58960 2200
0 CFT30-1M CFT30-1MUU CFT30-1MR CFT30-1MUUR 41740 78 250 | 58960 5000
30 -0.021 85 35 |30| M30x1.5{32|100|63 15 1 Rc1/8 4 |1 46 56 000 16 100 450 2030
’ CFT30-1VM CFT30-1VMUU  |CFT30-1VMR CFT30-1VMUUR 62210 | 132530 | 58960 2200
0 CFT30-2M CFT30-2MUU CFT30-2MR CFT30-2MUUR 41740 78 250 | 58960 5000
30 -0.021 90 35 |30| M30x1.5{32|100|63 15 1 Rc1/8 4 |1 46 59300 17 300 450 2220
' CFT30-2VM CFT30-2VMUU  |CFT30-2VMR CFT30-2VMUUR 62210 | 132530 | 58960 2200
* EEEE, EEEEEEE. WRRBREE, SRAAFETENIZEERN 130%. SNENZE (um) M
FEATHE, BEDZEER 70%. E=i] B4 E IRIE4NE
CF6M 0/-8 0/-50 e m
CF8M,CF10M,CF10-1M,CF12M 0/-9 0/-50 e
CF12-1M,CF16M,CF18M,CF20-1M 0/-11 0/-50
CF20M,CF24M,CF24-1M,CF30M 0/-13 0/-50 ﬁﬁ'ﬁ;@ﬂ Zig?:i]fﬂ
CF30-1M,CF30-2M 0/-15 0/-50 Lko

<

246 NOSE SEIKO CO.,LTD. NOSE SEIKO CO.,LTD. 247





